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NEW QUESTION 1
Which function does a fabric edge node perform in an SD-Access deployment?

A. Connects the SD-Access fabric to another fabric or external Layer 3 networks
B. Connects endpoints to the fabric and forwards their traffic

C. Provides reachability border nodes in the fabric underlay

D. Encapsulates end-user data traffic into LISP.

Answer: A

NEW QUESTION 2
An engineer is configuring local web authentication on a WLAN. The engineer chooses the Authentication radio button under the Layer 3 Security options for Web
Policy. Which device presents the web authentication for the WLAN?

A. ISE server

B. local WLC

C. RADIUS server
D. anchor WLC

Answer: B

NEW QUESTION 3
When using TLS for syslog, which configuration allows for secure and reliable transportation of messages to its default port?

A. logging host 10.2.3.4 vrf mgmt transport tcp port 6514
B. logging host 10.2.3.4 vrf mgmt transport udp port 6514
C. logging host 10.2.3.4 vrf mgmt transport tcp port 514
D. logging host 10.2.3.4 vrf mgmt transport udp port 514

Answer: A

NEW QUESTION 4
Which two steps are required for a complete Cisco DNA Center upgrade? (Choose two.)

A. golden image selection
B. automation backup

C. proxy configuration

D. application updates

E. system update

Answer: DE

NEW QUESTION 5
Drag and drop the description from the left onto the correct QoS components on the right.

raffe Potcong
. i retr anermeesans when traffie e fArocood

ntrodisces delsy snd piter [Trafic Shaping

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Traffic Policing: Drops excessive Traffic, causes TCP retransmissions, introduce no delayl/jitter Shaping: buffers, excessive traffic, introduce delay and jitter,
typically delays, rather than drops traffic

NEW QUESTION 6
On which protocol or technology is the fabric data plane based in Cisco SD-Access fabric?

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version 350-401 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/350-401-dumps.html (100 Q&AS)

A. LISP

B. IS-IS

C. Cisco TrustSec
D. VXLAN

Answer: D

NEW QUESTION 7
Refer to the exhibit.

Antenna Arimuth Flanoe Parteomn Arntenna Elovano Plam Patior

Which type of antenna do the radiation patterns present?

A. Patch

B. Omnidirectional
C. Yagi

D. Dipole

Answer: A

NEW QUESTION 8
Which IP SLA operation requires the IP SLA responder to be configured on the remote end?

A. ICMP echo
B. UDP jitter

C. CMP jitter

D. TCP connect

Answer: D

NEW QUESTION 9
Which statement about multicast RPs is true?

A. RPs are required only when using protocol independent multicast dense mode.

B. RPs are required for protocol independent multicast sparse mode and dense mode.

C. By default, the RP is needed periodically to maintain sessions with sources and receivers
D. By default, the RP is needed only to start new sessions with sources and receivers.

Answer: D

NEW QUESTION 10
Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.

B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.
D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 10
Which method creates an EEM applet policy that is registered with EEM and runs on demand or manually?

A. event manager applet ondemand event registeraction 1.0 syslog priority critical msg 'This is a message from ondemand'
B. event manager applet ondemand event manualaction 1.0 syslog priority critical msg 'This is a message from ondemand'
C. event manager applet ondemand event noneaction 1.0 syslog priority critical msg 'This is a message from ondemand’
D. event manager applet ondemandaction 1.0 syslog priority critical msg 'This is a message from ondemand'

Answer: C

NEW QUESTION 14
Which method does the enable secret password option use to encrypt device passwords?

A. AES
B. CHAP
C. PAP
D. MD5
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Answer: D

NEW QUESTION 16
Refer to exhibit.

=~ = =

SV SwW2 SwWa3

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command
ensures that SW3 receives frames only from VLAN 50?

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 20
What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 21
Which DNS lookup does an access point perform when attempting CAPWAP discovery?

A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 24
Which statement describes the IP and MAC allocation requirements for virtual machines on types 1 hypervisors?

A. Each virtual machine requires a unique IP and MAC addresses to be able to reach to other nodes.

B. Each virtual machine requires a unique IP address but shares the MAC address with the physical server

C. Each virtual machines requires a unique IP address but shares the MAC address with the address of the physical server.
D. Each virtual machine requires a unique MAC address but shares the IP address with the physical server.

Answer: A

NEW QUESTION 29
Which TCP setting is tuned to minimize the risk of fragmentation on a GRE/IP tunnel?

A. MTU
B. Window size
C. MRU
D. MSS

Answer: D

NEW QUESTION 30
Which two GRE features are configured to prevent fragmentation? (Choose two.)

A. TCP window size
B. TCP MSS

C.IP MTU

D. DF bit clear

E. MTU ignore

Answer: BC
NEW QUESTION 31
Which statement about an RSPAN session configuration is true?

A. A fitter mutt be configured for RSPAN Regions
B. Only one session can be configured at a time
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C. A special VLAN type must be used as the RSPAN destination.
D. Only incoming traffic can be monitored

Answer: C

NEW QUESTION 36
A customer has several small branches and wants to deploy a WI-FI solution with local management using CAPWAP. Which deployment model meets this
requirement?

A. Autonomous

B. Mobility Express

C. SD-Access wireless
D. Local mode

Answer: B

NEW QUESTION 41
Which QoS component alters a packet to change the way that traffic is treated in the network?

A. Marking
B. Classification
C. Shaping
D. Policing

Answer: A

NEW QUESTION 44
Which two protocols are used with YANG data models? (Choose two.)

A. HTTPS

B. SSH

C. RESTCONF
D. TLS

E. NFTCONF

Answer: CE

NEW QUESTION 45
Refer to the exhibit.

Fxlended 1P Aacoess sl FGRESS
10 permit ip 10.1.100.0 0.0.0.25510.1.2.0 0.0.0.255
20 deny ip any any

An engineer must modify the access control list EGRESS to allow all IP traffic from subnet 10.1.10.0/24 to 10.1.2.0/24. The access control list is applied in the
outbound direction on router interface GigabitEthemet 0/1. Which configuration commands can the engineer use to allow this traffic without disrupting existing
traffic flows?

A)
config t
ip access-list extended EGRESS
permitip 10.1.10.0 255.255.255.0 10.1.2.0 255.255.255.0
B)
config t
ip access-list extended EGRESS
S permitip 10.1.10.0 0.0.0.2556 10.1.2.0 0.0.0.2566
C)
configt
ip access-list extended EGRESS2
permitip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
permitip 10.1.100.0 0.0.0.255 10.1.2.0 0.0.0.25S5
deny ip any any
interface g0/1
no ip access-group EGRESS out
ip access-group EGRESS2 out
D)
config t

ip access-list extended EGRESS
permitip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 46
Which method displays text directly into the active console with a synchronous EEM applet policy?

A. event manager applet boom event syslog pattern 'UP'action 1.0 gets 'logging directly to console'

B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console’
C. event manager applet boom event syslog pattern 'UP'action 1.0 puts 'logging directly to console'

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B
NEW QUESTION 48

Drag and drop the characteristics from the left onto the correct routing protocol types on the right.
[ DSPF

T
pa)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
OSPF: SEGMENT, LINK STATE, TABLES
EIGRP: UNEQUAL PATH, DISTANCE VECTOR, METRIC

NEW QUESTION 51
Which two descriptions of FlexConnect mode for Cisco APs are true? (Choose two.)

A. APs that operate in FlexConnect mode cannot detect rogue Aps.

B. FlexConnect mode is used when the APs are set up in a mesh environment and used to bridge between each other.

C. FlexConnect mode is a feature that is designed to allow specified CAPWAP-enabled APs to exclude themselves from managing data traffic between clients and
infrastructure.

D. When connected to the controller, FlexConnect APs can tunnel traffic back to the controller.

E. FlexConnect mode is a wireless solution for branch office and remote office deployments.

Answer: CD

NEW QUESTION 55
Which statement about Cisco EAP-FAST is true?

A. It does not require a RADIUS server certificate.
B. It requires a client certificate.

C. Itis an IETF standard.

D. It operates in transparent mode.

Answer: A

NEW QUESTION 60

What are two benefits of virtualizing the server with the use of VMs in data center environment? (Choose two.)
A. Increased security

B. reduced rack space, power, and cooling requirements

C. reduced IP and MAC address requirements
D. speedy deployment
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E. smaller Layer 2 domain

Answer: BD

NEW QUESTION 61
Refer to the exhibit.

Mame is Bob Johnson
Ageis 75
15 alive

Favorite Toods ane
= Cereal

= Mustard

= Dnions

What is the JSON syntax that is formed the data?

A. Name: Bob, Johson, Age: 75, Alive: true, Favourite Food

B. [Cereal, "Mustard", "Onions}}

C. Name", "Bob" Johson", "Age", 75, "Alive", true, "favourite Foods", ['Cereal, "Mustard", Onions"}}

D. Name', 'Bob Johson,' 'Age’, 75, 'Alive’, true, 'favourite Foods' 'Cereal’, 'Mustard', 'Onions'}

E. Name". "Bob Johson", "Age": Seventyfive, "Alive" true, "favourite Foods" ,[Cereal” "Mustard" "Onions"}}

Answer: C
NEW QUESTION 63
Which LISP device is responsible for publishing EID-to-RLOC mappings for a site?

A.ETR

Answer: A

NEW QUESTION 67
Which two operations are valid for RESTCONF? (Choose two.)

A. HEAD

B. REMOVE
C. PULL

D. PATCH
E. ADD

F. PUSH

Answer: AD

NEW QUESTION 69
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